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This contribution is taking some of the proposals for handling of results that do not reach the target throughput [1] and applying them to the harmonization analyses for Bands 13 and 7, based on the informative Excel spreadsheet included in the RAN4#76bis way forward [2]. 

The focus of these analyses is the residual error calculated for Option G with the following harmonization parameters [2]:
	Opt.G harmonization parameters

	Parameter
	Value

	Max TPT per measured curve assumption
	Maximum expected per MCS

	Throughput outage value
	Residual error evaluated at 70% and 95%

	Outage point search method
	First intersect search high TPT to low

	Averaging method across outage points
	Linear across mW

	DUT positions in MPAC
	Avg across all x pos. (single test case)

	RC/RC+CE FoM
	avg. across outage points (see labels)

	Channel Models
	UMa, UMi, NIST, LCSD, HCLD


The number of DUT positions, x, is reduced from 8 to 3 according to the priority of DUT positions published in the operator and OEM survey on user interaction [3]. While the attached spreadsheets are taking the residual errors for RC vs MPAC, RC&CE vs MPAC, and RTS vs MPAC into account, the graphical results in this document are focused only on RC&CE vs MPAC and RTS vs MPAC due to the very large residual errors of RC vs MPAC (only one offset can be used per band; the same offset needs to be applied for each channel model).

The following proposals for handling of results that do not reach 95% target throughput are considered here and the attached harmonization analysis spreadsheets:
· 70% Only: perform the analysis with the 70% throughput outage value only
· Substitution with -80: For throughput curves that do not reach the 95% outage level, an upper value for the DL power of -80dBm/15kHz is used as substitute
· Ignore outliers: Ignore curves that don’t’ reach the target value but note how many do this 
· Top 10/100: For AC(RC&CE) methodologies, only take the best 10 (120) curves into account for the linear average
· Ignore outliers + 0.2dB/curve penalty: Ignore curves that don’t’ reach the target value, note how many outliers exist, and penalize the linear average by 0.2dB per curve that does not achieve the target value 
The residual errors of RTS with respect to MPAC and RC&CE with respect to MPAC are shown in Figure 1 for Band 13 and in Figure 2 for Band 7. 
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Figure 1: Residual errors for Band 13
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Figure 2: Residual errors for Band 7
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